
100 bunches
T b_b = 18.45 ns

C=553 m

1.3 GeV
Linac

Gamma
Ng = 4 10exp10
bunch

2 10exp 8 positrons

CW linac
3.5 GeV

564 bunches
Tb_b =6.15ns

C=1040m
Tcool = 2 msec
wait = 2 msec

single cycle ~2.5 msec

CW linac
1.5 GeV

Stack 40 times
416 microsec

Transfer at 400 Hz
It means that in 100 msec  => 40 shots
Total 320 stackings/bunch in main-DR

Collision 226 turns (416micro sec) then wait 2 msec.
Single cycle ~ 2.5 m sec.

To DR

Waiting time
Between stack
In the same bucket
= 1/200 Tcool


